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Create an equation to represent the situation and then solve using algebra!
	Seventeen percent of a number is fifteen less than seventy percent of the same number.
	Two-hundred percent of a number is eighteen greater than one-hundred twenty percent of the same number.

	EQ:  
             
	EQ:       
                  







































Create an equation to represent the situation and then solve using algebra!
	Seventy-one is what percent of ninety-five?
	Twenty-three is what percent of two-thousand one-hundred?

	EQ: 
        
	EQ:    
             





























Create an equation to represent the situation and then solve using algebra!
	Forty-nine is what percent of one-hundred ninety?
	Four-tenths is what percent of nine-thousand?

	EQ:      
             
	EQ:      
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Line segments PQ and RS are parallel. Points T, U, V'
are placed so that ZQTV = 30°, ZSUV = 40°, and
ZTVU = a°, as shown. What is the value of 7

In the diagram, the rectangular solid has side lengths
1m, 20 cm and 50 cm. The volume of the solid, in
cubic centimetres, is

The points A, B,C, D, and E represent values along
the number line, as shown. 4, B, C, and D are
between 0 and 1, and E is between 1 and 2. Which
point best represents the value of B x C7
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